121 Artisan Bistro, 121 Dr Michael Debakey Dr Lake Charles, LA 70601, Pulled: 10/02/2024 12:45:41

Settings: Date Range: 10/02/2024 - 10/02/2024 Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Support OC - Cook OC - Kitchen Manager OC - Floor Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier TO GO Training

Data for: 09/25/2024 00:00:00 to 10/01/2024 23:59:59 121 Bistro Pay Rate Total Hours 0.00 Job Title Total \$0.00 Sales: \$0.00 **Claimed Tips** \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 \$0.00 Avg Payrate Accounting Pay Rate Total Claimed Tips ob Title Hours Total 0.00 \$0.00 Sales: \$0.00 \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 **QR** Ordering Pay Rate Total ob Title Hours Total 0.00 \$0.00 Sales: \$0.00 **Claimed Tips** \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Abduzhalilov, Alan Job Title Pay Rate Total Hours Total Claimed Tips \$0.00 \$0.00 0.00 Sales: \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Aljohani, Abdullah Pay Rate Total Job Title Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Arabie, gage Job Title Pay Rate Hours 0.00 Total Total Claimed Tips \$0.00 \$0.00 Sales: \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Ash, Derek Pay Rate \$16.00 Job Title Hours Total OC - Cook 37.08 \$593.33 Total Claimed Tips 37.08 \$593.33 Sales: \$0.00 \$0.00 \$0.00 Tips: \$0.00 Gratuity Grand Total \$593.33 Avg Payrate \$16.00 Auzenne-Celestine, Bailey Pay Rate Total Hours lob Title Total 0.00 \$0.00 Sales: \$0.00 **Claimed Tips** \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Babineaux, Kevin Pay Rate \$16.00 Job Title Total Hours OC - Dishwasher \$533.76 33.36 33.36 \$533.76 Total **Claimed Tips** Sales: \$0.00 \$0.00 Tips: \$0.00 Gratuity Grand Total \$0.00 \$533.76 Avg Payrate \$16.00 Baptiste, Jason Job Title Pay Rate Hours Total Total 0.00 \$0.00 Sales: \$0.00 **Claimed Tips** \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Baudoin, Lauren Pay Rate \$2.13 Job Title Hours Total OC - Server \$73.84 34.67 Total 34.67 \$73.84 Sales: \$4,433.32 Tips: \$617.28 **Claimed Tips** \$0.00 \$297.28 Gratuity \$988.40 Grand Total Avg Payrate \$28.51 Beitel, Damien Job Title Pay Rate Hours Total Total 0.00 \$0.00 Claimed Tips Sales: \$0.00 \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total Avg Payrate \$0.00 \$0.00 Blalock, Kinslee Job Title Pay Rate Hours Total OC - Server \$2.13 24.33 \$51.81

Total

24.33

\$51.81

Sales: \$2,786.48 Tips: \$541.02	Claimed Tips Gratuity		\$8.0 \$0.0
,	Grand Total Avg Payrate	\$600.8 \$24.7	
Boulet, Erin	Avgraviace		<i>724.1</i>
Job Title	Pay Rate Total	Hours 0.00	Tot \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0
Brignac, Bella Job Title	Day Data		Tot
	Pay Rate Total	Hours 0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
11951 \$0.00	Grand Total		\$0.
Ducasta Duisuna	Avg Payrate		\$0.0
Brocato, Brianna Job Title	Pay Rate	Hours	То
OC - Support TO GO	\$8.50 \$8.00	16.28 3.15	\$138.
10 00	Total	19.43	\$25. \$163.
Sales: \$249.06 Tips: \$0.00	Claimed Tips Gratuity		\$0. \$0.
Tips: \$0.00	Grand Total		\$163.
	Avg Payrate		\$8.
Broussard, Riley	Pay Rate	Hours	То
	Total	0.00	\$0.
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0. \$0.
1153. \$0.00	Grand Total		\$0.
Drawn Drian	Avg Payrate		\$0.
Brown, Brian Job Title	Pay Rate	Hours	То
OC - Dishwasher	\$13.00	25.91	\$336.
Sales: \$0.00	Total Claimed Tips	25.91	\$336. \$0.
Tips: \$0.00	Gratuity		\$0. \$336.
	Grand Total Avg Payrate		\$330. \$13.
Brown, Destiny			
Job Title	Pay Rate Total	Hours 0.00	To \$0.
Sales: \$0.00	Claimed Tips	0.00	\$0.
Tips: \$0.00	Gratuity Grand Total		\$0. \$0.
	Avg Payrate		\$0. \$0.
Burdette-Turner, Damon			_
Job Title OC - Cook	Pay Rate \$16.00	Hours 29.88	To \$478.
-	Total	29.88	\$478.
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0. \$0.
	Grand Total Avg Payrate		\$478. \$16.
Chen-Bourque, Logan	Avg Faylate		\$10.
Job Title	Pay Rate	Hours	То
TO GO OC - Support	\$8.50 \$8.50	10.47 8.98	\$89. \$76.
	Total	19.45	\$165.
Sales: \$782.00 Tips: \$34.00	Claimed Tips Gratuity		\$0. \$0.
	Grand Total		\$199.
Clark Cabrielle	Avg Payrate		\$10.
Clark, Gabrielle Job Title	Pay Rate	Hours	То
Sales: \$0.00	Total	0.00	\$0. \$0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0. \$0.
	Grand Total		\$0.
Cloud, Josh	Avg Payrate		\$O.
Job Title	Pay Rate	Hours	То
OC - Server	\$2.13 Total	21.73 21.73	\$46. \$46.
Sales: \$2,323.63	Claimed Tips	21.75	\$0.
Tips: \$274.29	Gratuity Grand Total		\$171. \$491.
	Avg Payrate		\$22.
Collins, Corey			
Job Title OC - Dishwasher	Pay Rate \$13.00	Hours 29.42	To \$382.
	Total	29.42	\$382.
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0. \$0.
	Grand Total		\$382.
Courville, Daylon	Avg Payrate		\$13.
Job Title	Pay Rate	Hours	То
OC - Cook	\$13.00 Total	35.68	\$463.
		35.68	\$463. \$0.
Sales: \$0.00	Claimed Tips		J U.

	Grand Total Avg Payrate		\$463.90 \$13.00
Duck, Morgan Job Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Duplechin, Kaelyn			
Job Title TO GO	Pay Rate \$8.00	Hours 13.57	Total \$108.58
OC - Support	\$8.50	8.65	\$73.48
	Total	22.22	\$182.06
Sales: \$1,123.60 Tips: \$37.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$219.06
Dunroo Savanna	Avg Payrate		\$9.86
Dupree, Savanna Job Title	Pay Rate	Hours	Total
Color: 60.00	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Engler, Megan Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1183. 90.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Fontenot, Deven	Day Data	LL es une	Total
Job Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Fontenot, Justin			
Job Title OC - Bartender	Pay Rate \$8.50	Hours 31.76	Total
OC - Baltender	Total	31.76	\$269.96 \$269.96
Sales: \$3,774.56	Claimed Tips		\$155.00
Tips: \$625.70	Gratuity Grand Total		\$0.00 \$1,050.66
	Avg Payrate		\$33.08
Gandy, Lauren			
Job Title OC - Server	Pay Rate \$2.13	Hours 34.67	Total \$73.84
	Total	34.67	\$73.84
Sales: \$4,930.50 Tips: \$703.38	Claimed Tips Gratuity		\$0.00 \$156.11
1153. \$703.30	Grand Total		\$933.33
	Avg Payrate		\$26.92
Gobert, Guy Marty Martell	Pay Pate	Hours	Total
OC - Cook	Pay Rate \$13.00	27.38	\$355.88
Color: 60.00	Total	27.38	\$355.88
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
···	Grand Total		\$355.88
	Avg Payrate		\$13.00
Gray, Benny Job Title	Pav	Rate Hours	Total
OC - Kitchen Manager	Ş	0.00 35.52	\$0.00
Sales: \$0.00	Claimed	Total 35.52	\$0.00 \$0.00
Tips: \$0.00		tuity	\$0.00
	Grand		\$0.00
Guillory, David	Avg Pay	alt	\$0.00
Job Title	Pay Rate	Hours	Total
OC - Cook	\$15.00	26.83	\$402.50
Sales: \$0.00	Total Claimed Tips	26.83	\$402.50 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$402.50 \$15.00
Hazelton, Tucker			,
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13 Total	10.70 10.70	\$22.78 \$22.78
Sales: \$1,123.51	Claimed Tips	10.70	\$0.00
Tips: \$213.65	Gratuity Grand Total		\$11.81
	Grand Total Avg Payrate		\$248.24 \$23.21
Holcom, Hannah	5		
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13 Total	9.88 9.88	\$21.04 \$21.04
Sales: \$2,269.61	Claimed Tips	5.00	\$0.00
Time: 6510 72	Custovites		\$57.52
Tips: \$518.73	Gratuity Grand Total		
TIPS: \$518.73	Grand Total Avg Payrate		\$597.29 \$60.46

Landreneau, Alec			
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13 Tota l	31.04 31.04	\$66.11 \$66.11
Sales: \$5,194.73	Claimed Tips	51.04	\$0.00
Tips: \$489.74	Gratuity		\$545.71
	Grand Total Avg Payrate		\$1,101.56 \$35.49
landry, vincent	Dev. Dete		Tatal
Job Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Leggett, Layson			
Job Title OC - Cook	Pay Rate \$13.00	Hours 34.72	Total \$451.37
	Total	34.72	\$451.37
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1193. 30.00	Grand Total		\$451.37
	Avg Payrate		\$13.00
LeGros, Jorion Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Lewis, Jamar			
Job Title OC - Cook	Pay Rate \$15.00	Hours 30.04	Total \$450.57
	Total	30.04	\$450.57
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$450.57
	Avg Payrate		\$15.00
Lopez, Damian			
Job Title OC - Dishwasher	Pay Rate \$13.00	Hours 32.04	Total \$416.50
	Total	32.04	\$416.50
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163. 30.00	Grand Total		\$416.50
	Avg Payrate		\$13.00
maneewan, Jiravadee	Day Pata	Hours	Total
	Pay Rate Total	0.00	Total \$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Mannheimer, Larry	_		
Job Title	Pav	Rate Hours	Total
OC - General Manager		50.00 0.08	\$0.00
OC - General Manager		\$0.00 0.08 Total 0.08	
Sales: \$0.00	Claimed	Total 0.08 I Tips	\$0.00 \$0.00
	Claimed	Total 0.08 I Tips ituity	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Gra	Total 0.08 I Tips Ituity Total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel	Claimec Gra Grand Avg Pa	Total 0.08 I Tips Ituity Total yrate	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00	Claimec Gra Grand	Total 0.08 I Tips Ituity Total	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Tota
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00	Claimed Gra Grand Avg Par Pay Rate Total Claimed Tips	Total 0.08 I Tips Ituity Total yrate Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title	Claimec Gra Grand Avg Pa Pay Rate Total Claimed Tips Gratuity	Total 0.08 I Tips Ituity Total yrate Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00	Claimed Gra Grand Avg Par Pay Rate Total Claimed Tips	Total 0.08 I Tips Ituity Total yrate Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie	Claimee Gra Grand Avg Pay Pay Rate Total Claimed Tips Grant Uty Grand Total Avg Payrate	Total 0.08 Tips tuity Total yrate Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title	Claimed Gra Grand Avg Par Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	Total 0.08 I Tips I tiutity Total yrate Hours 0.00 Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie	Claimee Gra Grand Avg Pay Pay Rate Total Claimed Tips Grant Uty Grand Total Avg Payrate	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 3.60 19.83	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender	Claimed Grand Avg Pay Pay Rate Total Claimed Tips Grand Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total	Total 0.08 Tips ituity Total yrate Hours 0.00 Hours 3.60	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$168.54 \$176.20
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server	Claimec Grand Avg Pay Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$8.50	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 3.60 19.83	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20	Claimee Gran Grand Avg Pay Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Grand Total	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 3.60 19.83	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.68.54 \$176.20 \$15.00 \$0.00 \$362.06
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86	Claimed Grad Avg Pay Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Gratuity	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 3.60 19.83	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.68.54 \$176.20 \$15.00 \$0.00 \$362.06
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron	Claimed Grand Avg Par Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 Tips tiutity Total yrate Hours 0.00 Hours 3.60 19.83 23.43	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title	Claimee Gra Grand Avg Pay Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate Pay Rate Total	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 3.60 19.83	\$0.00 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.0000 \$0.000 \$0.000 \$0.000 \$0.0000\$
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00	Claimed Grand Avg Par Pay Rate Total Claimed Tips Gratuity Grand Total Avg Pay Rate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips	Total 0.08 I Tips Ituity Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title	Claimee Gra Grand Avg Pay Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate Pay Rate Total	Total 0.08 I Tips Ituity Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.00 \$362.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$0.00	Claimed Grand Avg Pay Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 I Tips Ituity Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$10.00 Monson, Livya	Claimec Gran Avg Pay Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$10.00 Monson, Livya	Claimed Grand Claimed Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 I Tips Ituity Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.00 \$3.000 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title Sales: \$0.00	Claimed Grand Avg Pay Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Claimed Tips Gratuity Grand Total Claimed Tips Gratuity Grand Total Claimed Tips	Total 0.08 Tips tuiuty Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours 0.00 Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.000 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title	Claimed Grand Avg Par Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 Tips tuiuty Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours 0.00 Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.000 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title Sales: \$0.00	Claimed Grand Avg Pay Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Claimed Tips Gratuity Grand Total Claimed Tips Gratuity Grand Total Claimed Tips	Total 0.08 Tips tuiuty Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours 0.00 Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$15.00 \$15.00 \$15.06 \$15.46 Total \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title	Claimed Grand Avg Pay Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Total Claimed Tips Gratuity Grand Total Avg Payrate Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 Tips tuiuty Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours 0.00 Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.000 \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title Sales: \$0.00 Tips: \$0.00	Claimed Grand Avg Par Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 0.00 Hours 0.00 Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.00
Sales: \$0.00 Tips: \$0.00 McDaniel, Ariel Job Title Sales: \$0.00 Tips: \$0.00 Menard, Mckenzie Job Title OC - Server OC - Server OC - Bartender Sales: \$948.20 Tips: \$170.86 Minor, Terron Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title Sales: \$0.00 Tips: \$0.00 Monson, Livya Job Title	Claimed Grand Avg Pay Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$2.13 \$8.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	Total 0.08 Tips tuity Total yrate Hours 0.00 Hours 3.60 19.83 23.43 Hours 0.00 Hours 0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$15.00 \$362.06 \$15.46 Total \$0.000 \$0.00

	Total	32.95	\$406.12
Sales: \$0.00	Claimed Tips	32.33	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$406.12 \$12.33
Moten, Orlando			
Job Title	Pay Rate	Hours	Total
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
• •	Grand Total		\$0.00
	Avg Payrate		\$0.00
Newman, Katelynn	Dev. Dete		T - + -
Iob Title OC - Support	Pay Rate \$8.50	Hours 3.12	Total \$26.56
ou support	Total	3.12	\$26.56
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$26.56
	Avg Payrate		\$8.50
Newman, Keigen			
lob Title	Pay Rate	Hours	Tota
OC - Support TO GO	\$8.50 \$8.00	19.37 3.32	\$164.62 \$26.56
10 00	Total	22.69	\$191.19
Sales: \$123.43	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$191.19
	Avg Payrate		\$191.19
Phillips, Nate			
Job Title	Pay Rate	Hours	Tota
OC - Support	\$8.50	12.45	\$105.80
Sales: \$0.00	Total Claimed Tips	12.45	\$105.80 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$105.80
	Avg Payrate		\$8.50
Ramirez, Kelseigh			
Iob Title OC - Floor Manager	Pay Rate \$0.00		Tota \$0.00
OC - Server	\$2.13		\$19.24
OC - Server - OT	\$3.20	9.74	\$31.11
6 L 65 200 02	Total		\$50.35
Sales: \$5,308.93 Tips: \$624.57	Claimed Tips Gratuity		\$0.00 \$128.47
	Grand Total		\$803.39
	Avg Payrate		\$16.15
Reed, Stevie			
Job Title	Pay Rate Total	Hours 0.00	Tota \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Rogers, Jaken	Avgrayute		<i></i>
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163. 30.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Rubin, Floyd			
Job Title	Pay Rate	Hours	Tota
OC - Cook	\$17.50 Total	35.45 35.45	\$620.38 \$620.38
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$620.38 \$17.50
Savoie, Matthew			φ <i>21</i> .30
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Savoy, Taylor			
Job Title	Pay Rate	Hours	Tota
TO GO	\$8.50 Total	11.68	\$99.32
Sales: \$2,112.39	Total Claimed Tips	11.68	\$99.32 \$0.00
Tips: \$48.00	Gratuity		\$0.00
	Grand Total		\$147.32
Scharff Jakob	Avg Payrate		\$12.61
Scharff, Jakob Job Title	Pay Rate	Hours	Tota
OC - Cook	\$16.00	30.84	\$493.47
	Total	30.84	\$493.47
Sales: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
Tine: \$0.00	Gratuity		\$0.00 \$493.47
Tips: \$0.00	Grand Total		
Tips: \$0.00	Grand Total Avg Payrate		
Scroggs, Betsy	Avg Payrate		\$16.00
		Hours 4.43	

Calaa, 60.00	Total	4.43	\$37.6
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
1153. 90.00	Grand Total		\$37.6
Secula Ioni	Avg Payrate		\$8.5
Searle, Jeri lob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
1143. \$0.00	Grand Total		\$0.0
	Avg Payrate		\$0.0
Shields, Alana	Dav. Data	Hours	Tota
ob Title	Pay Rate Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0
Simon, Jordan			
ob Title	Pay Rate	Hours	Tota
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0 \$0.0
Smith, Landon	Avg Payrate		\$0.0
lob Title	Pay Rate	Hours	Tot
OC - Server	\$2.13	36.07	\$76.8
Sales: \$5,605.56	Total Claimed Tips	36.07	\$76.8 \$0.0
Tips: \$767.82	Gratuity		\$363.9
	Grand Total		\$1,208.5
	Avg Payrate		\$33.5
Smith, Lexie	Pay Rate	Hours	Tot
OC - Server	\$2.13	28.83	\$61.4
	Total	28.83	\$61.4
Sales: \$4,393.78 Tips: \$556.36	Claimed Tips Gratuity		\$60.0 \$84.1
1103. 300.00	Grand Total		\$761.8
	Avg Payrate		\$26.4
Sonnier, Christian	Dev. Dete		T _4
OC - Server	Pay Rate \$2.13	Hours 18.09	Tot \$38.5
OC - Bartender	\$8.00	12.16	\$97.3
Salaa, ŚĘ 127 70	Total	30.25	\$135.8
Sales: \$5,127.70 Tips: \$848.81	Claimed Tips Gratuity		\$0.0 \$133.8
	Grand Total		\$1,118.5
	Avg Payrate		\$36.9
Spong, Richard	Pay Rate	Hours	Tot
OC - Server	\$2.13	19.02	\$40.5
Sales: \$5,424.67	Total Claimed Time	19.02	\$40.5 \$8.0
Tips: \$748.64	Claimed Tips Gratuity		\$336.4
	Grand Total		\$1,133.5
	Avg Payrate		\$59.5
Fouchet, Kaylie	Pay Rate	Hours	Tot
OC - Server	\$2.13	27.92	\$59.4
	Total	27.92	\$59.4
Sales: \$4,099.06 Tips: \$771.67	Claimed Tips Gratuity		\$0.0 \$136.0
11031 \$77 2107	Grand Total		\$967.1
	Avg Payrate		\$34.6
Frahan, Molly	D D-1		
OC - Server	Pay Rate \$2.13	Hours 14.22	Tot \$30.2
	Total	14.22	\$30.2
Sales: \$2,571.97	Claimed Tips		\$0.0
Tips: \$331.33	Gratuity Grand Total		\$125.5 \$487.1
	Avg Payrate		\$34.2
Furner, Michael	1		
OC - Cook	Pay Rate \$14.00	Hours 20.64	Tot \$288.9
00 - 000k	Total	20.64	\$288.9
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$288.9
	Avg Payrate		\$14.0
Welch, Daegan			
ob Title	Pay Rate	Hours	Tot
TO GO OC - Support	\$8.50 \$8.50	12.28 5.49	\$104.3 \$46.6
	Total	17.76	\$150.9
Sales: \$1,679.52	Claimed Tips		\$0.0
Tips: \$19.00	Gratuity Grand Total		\$0.0 \$169.9
	Avg Payrate		\$109.5
Williams, Cheyenne			

1			_			
	_			otal	24.03	\$51.18
Sales: \$4,523.7	7		Claimed 1			\$0.00
Tips: \$691.83			Grat			\$289.32
			Grand T			\$1,032.33
			Avg Payı	rate		\$42.96
Williams, Kevin						
Job Title				Pay Rate	Hours	Total
OC - Kitchen I	Manager			\$0.00	34.54	\$0.00
				Total	34.54	\$0.00
Sales: \$0	0.00		Cla	imed Tips		\$0.00
Tips: \$0	.00			Gratuity		\$0.00
			Gi	and Total		\$0.00
			Av	g Payrate		\$0.00
Wilson, Michael				¥ /		
lob Title			Pay Ra	**	Hours	Total
ob mie			To		0.00	\$0.00
Sales: \$0.00			Claimed Ti		0.00	\$0.00
Tips: \$0.00			Gratu			\$0.00
11ps. \$0.00			Grand To			\$0.00
			Avg Payra			\$0.00
		Summary	Algrayia			90.00
Job Code	Total Llaura		OTHOURS	Total Day	Decules Dev	OT Pay
OC - Cook	308.55	Regular Hours 308.55	0.00	Total Pay \$4.598.42	Regular Pay \$4.598.42	\$0.00
OC - Dishwasher	143.65	143.65	0.00	\$1.990.41		\$0.00
OC - Server	357.54	347.80	9.74	\$771.93	\$740.82	\$0.00
OC - Support	88.78	88.78	0.00	\$754.65	\$754.65	\$0.00
TO GO	54.48	54.48	0.00	\$453.02	\$453.02	\$0.00 \$0.00
OC - Bartender	63.75	63.75	0.00	\$535.81	\$535.81	\$0.00
OC - Kitchen Manager	70.06	70.06	0.00	\$0.00	\$0.00	\$0.00 \$0.00
OC - General Manager	0.08	0.08	0.00	\$0.00	\$0.00	\$0.00
OC - General Manager OC - Floor Manager	30.97	30.97	0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
TOTALS	1,117.85	1,108.12	9.74	\$9,104.25		
TUTALS	1,117.85	1,108.12	9.74	Ş9,104.25	\$9,073.14	Ş31.11